Michatl Lund
2,1 =7

gefﬂa/mk variables a4/ use /4‘;«4/744/ 74,,,(,4 ¥
d 7

LX
3t TUW(T-x)  yioe
S Kedehy

solve

I

+he Ve hs
vy e sevivrl 5o ludons ;o oand  Wighishs

Fre e ted /ﬂ/%’(“[“'/ selu Fipq
ax ”[/
G X (7-x
o ) /0/5/17«/{ v ﬁundfﬂ'}a/g
AY . J'é?
45 (7-x) Heaviside  method
! s
; I = i + 19
0
LD
iy y | 2_51[7_7) dx ;IJé | Im‘l“j'fqlc’ &7“1 Siebs
- |
4 f? * -‘7{’;; = £ 4
lvx[xl ~ 7>} = 7294 +C d
X Ly ¢
[ )f-—'7l i [ e ) g )’Fj:”""’g;’é'
X ()= ]|

e jmhal (o iFion s

Moo /
Solve  Aov x(£)

by -Ue™y = -77,%7F
)([’é): ._Z_Zé...zfi___ '

1t _Z¥E Finer 3»41'('§ s in Eﬂw ;f



| .G;’aph Z

i5

L -

<

I

Fromt Boel



